A2 bwanaf, 29 bwartug,

@

A4 —i .

AX(

3
A

I’TEA=-
SAMAMNAR

Ax( = of +Ax, = Un't—ia(,‘tz = o+ Vsat + 15_04&1 >

St —L 2= F+lot+ LAt = 20t -t"-¥- ot -+ =0=

= -2t +lot —8=0 —2 [ -strd=o

= ‘(—- = (— l- -1 = - -
OA=8-4uy =E5) - 44 4=25-1¢ =3 4
.{:“_z -&tVA -—LS_) ir/5+3 8‘;_‘ =19 See
' e : MhTe?
2 \s’_T’_'g _ %_— 0
©)
o A)ﬁ:vat'l‘zl_ip(ltf-‘-zf)l ’%fz= 20—4':‘3\0. ﬂ) Xlzlﬂ\u qoy'(
o Ix{=Tt.- Lo =20q- Lz 4" = fO-16= u 222> [x = 64 X+ A
64F--— —--— -4
!
24 suinats (ty2ckie) | E—
U[ Uc‘ 0(, ta= 0- 2.4 = {2u/s E E
Ty e .
=7¢$‘_+ 0(3'{1-‘0“’ 2‘(: ls“'/-‘ e.. !f 8 !
] § l
o 1 o ¢ *1(s)
! 7.<9<Jhl(-3 NV i‘h?
,u(%)T nol(' ol )'r
‘20" ’U,='U,_ —t U'-:‘b\-ﬂqt:
8 —oSEr o o= —= = —ooos
e oat lathit | =227
1’:‘ ,"*',*7777;777’”; 20-at ={o+1t = =20-S ='Ef')
. o-lo= 26%28 2y iy +ats
J L o =4t = =(0+225=
= i 25 4 tG) -[-:1“2% t =28 e “h+S =|{ /s




